
CLASS:--12TH, POLITICAL SCIENCE, QUESTIONS &ANSWERS  

 

1. Read the passage given below carefully and answer the questions  

 In April 1961… the Soviet Union were worried that the United States of America would invade  

communist ruled Cuba and overthrow the Cuban President Fidel Castro…. Nikita Khrushchev, the 

leader of Soviet Union, decided to convert Cuba into a Russian base. In 1962, placed nuclear 

missiles… Three weeks after the Soviet Union had placed the nuclear weapons in Cuba, the 

Americans became aware of it. They became reluctant to do anything that might lead to full scale 

war between the two countries… A clash seemed imminent in what came to be known as “Cuban 

Missile Crisis”. The prospects of this clash made the whole world nervous. 

Questions 

1. Why was the Soviet Union worried about America invading Cuba?  

2. In response to the action taken by America, what did Nikita Khrushchev do?  

3. Why were the two superpowers reluctant to start nuclear war?    

Answer:   

1. The Soviet Union was worried about America invading Cuba that the US world overthrew 

Cuban President Fidel Castro to capture power in Cuba. 

2. They became reluctant to do anything that might lead to to full scale war between the two 

countries. 

3. The two superpowers became reluctant because both of them knew that it might lead 

only a massive destruction and will not justify any gain for them. 

2. Read the passage given below carefully and answer the questions  : 

The Western alliance was formalised into an organisation, the North Atlantic Treaty Organisation 

(NATO), which came into existence in April 1949. It was an association of twelve states which 

declared that armed attack on any one of them would be regarded as an attack on all of them. 

Each of these status would be obliged to help each other. The eastern alliance known as the 

Warsaw Pact was led by Soviet Union, created in 1955 and its principal function was to counter 

NATO’s forces in Europe. 

Questions 

1. What does NATO stand for?  

2. What was NATO’s policy?   

3. What was Warsaw Pact?  

4. Mention the main function of Warsaw Pact.  

Answer:   

1. NATO stands for North Atlantic Treaty Organisation.  



2. NATO was an association of twelve states which declared that armed attack on any one of 

them would be regarded as an attack on all of them and each of them would be obliged to help 

each other. 

3. Warsaw Pact was eastern alliance, led by Soviet Union, created in 1955.   

4. Main function of Warsaw Pact was to counter NATO’s forces in Europe. 


